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The diagram above concisely illustrates the accepted
Standard Model of elementary particle physics. Quarks were
invented to explain the particle zoo, the plethora of
products created in atom-smashing experiments. Individual
quarks will never be observed, according to theory, because
they can only exist in at least pairs, normally trios.
Gauge bosons were invented to explain, in order from top to
bottom, the strong nuclear force, electromagnetism, and the
weak nuclear force. Individual leptons have been observed.
The Higgs has been detected by one facility but the
inferred purpose, to imbue mass, 1s entirely contrived.

Notably missing is any treatment of gravitation or General
Relativity. So the Standard Model is at best incomplete
with respect to the four forces of nature. There are two
core assumptions associated with the Model:

1. forces are mediated by bosons (as illustrated above)

2. elementary particles are inherently random
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fact that, as explained above, the particles with

on them are hypothetical or, as in the case of the
Higgs, have hypothetical purpose. No scientist can contest
this fact. Students have seen this diagram (without the Hs)
so many times, they’ve accepted it as fact. However, as
anyone knows, student acceptance does not turn a theory
into a law of nature.

Let’'s start with the so-called weak-carriers, W and Z
bosons. Why are they unnecessary? Very simple:
if all nuclei were stable, life would be impossible
if all nuclei were unstable, life would be impossible
the existence of life absolutely requires a balance of
stable and unstable nuclei regardless of the causative
agent
So it does not matter if radioactive decay is mediated by
bosons or little-green-men; we would not exist if there was
not a careful balance between stable and unstable nuclei.
The simplest explanation of radioactive decay is without
mediation: some nuclei are stable and some are not.
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